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Which statement about the ‘accept that the customer doesn't need everything’ target is
CORRECT?
 
A. It is achieved by testing only a few features to deliver on time 
B. It is achieved by ensuring that the operational product has complete documentation 
C. It is based on the concept that people generally use a limited number of product features 
D. It enables a more accurate final product to be produced 
 

Answer: C

 

 

Which statement about the ‘keep teams stable’ target is CORRECT?
 
A. It applies primarily to the long term, such as a project or a program 
B. It is the primary reason why the tolerance for cost is set to zero 
C. It prevents compromising the overall quality level of the product 
D. It results in the early delivery of a minimum viable product 
 

Answer: B
Reference:
https://publications.axelos.com/prince2agile2016/content.aspx?showNav=true&expandNav
=true&page=PRA_41
 
 

 

 

Which statement describes how the PRINCE2 ‘starting up a project’ process can be
applied in an agile environment?
 
A. PRINCE2 is predictive, but not emergent 
B. PRINCE2 is predictive and can be emergent 
C. PRINCE2 requires a lengthy start to a project 
D. PRINCE2 requires a disruptive start to a project 
 

Answer: B
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Which TWO statements describe a purpose of the business case?
 
1) To define the acceptance criteria for what the project must deliver.
 
2) To transfer responsibility for the work to the appropriate delivery team.
 
3) To document how significant risks will affect the expected project benefits.
 
4) To outline how and when the anticipated benefits can be measured.
 
A. 1 and 2 
B. 2 and 3 
C. 3 and 4 
D. 1 and 4 
 

Answer: C

 

 

Which is a key objective of running a workshop?
 
A. To make daily progress visible to the delivery team and key stakeholders 
B. To encourage collaboration and create the defined outputs from the event 
C. To communicate decisions to the wider stakeholder community 
D. To make day-to-day decisions on behalf of the delivery team within a sprint 
 

Answer: B
Reference:
https://publications.axelos.com/PRINCE2Agile2016/content.aspx?page=pra_166&showNa
v=true&expandNav=true
 
 

 

 

When tailoring the plans theme in an agile environment, what is recommended about using
a Gantt chart?
 
A. It should be used when planning at the delivery level 
B. It should be used when planning at the project level 
C. It should be used when controlling the quality of the products delivered 
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D. It should be used when monitoring the amount of products delivered 
 

Answer: B

 

 

Which describes the Scrum Master role in Scrum?
 
A. It is authorized to run the project on a day-to-day basis on behalf of the project board 
B. It is responsible for ensuring that product backlog items are clearly expressed on the
product backlog 
C. It is empowered to organize and manage its own work to create a valuable, useful
increment every sprint 
D. It is servant-leadership to help everyone change their interactions to maximize the value
created by the team 
 

Answer: B

 

 

Which is a purpose of the ‘managing product delivery’ process?
 
A. To plan the delivery of the products before committing to significant expenditure 
B. To agree on what is required for accepting, executing and delivering project work. 
C. To establish and deliver the project communications to the wider organization 
D. To delegate day-to-day management of the project to the project manager 
 

Answer: B

 

 

Which statement about the ‘keep teams stable’ target is CORRECT?
 
A. It ensures that the level of quality is protected 
B. It will lead to a lower cost of ownership 
C. It is required in order to allow the team to self-organize 
D. It results in the earth delivery of a minimum viable product 
 

Answer: C
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When tailoring PRINCE2, what does PRINCE2 Agile guidance cover?
 
A. How to adapt the PRINCE2 management products 
B. How to select which Agile framework should be favoured 
C. How to decide whether PRINCE2 is appropriate 
D. How to calculate the project budget and cost tolerance 
 

Answer: A

 

 

Which is a purpose of the quality theme?
 
A. To define the specific conditions that enable a product to be usable 
B. To determine how the means of delivering products is communicated 
C. To evaluate whether the project continues to be achievable 
D. To assess any potential improvements to a product 
 

Answer: C
Reference:
https://publications.axelos.com/PRINCE2Agile2016/content.aspx?page=pra_69&showNav
=true&expandNav=true
 
 

 

 

Which is a purpose of the plans theme?
 
A. To identify any deviations from the project’s objectives 
B. To control any approved changes to the baseline 
C. To monitor actual achievements against those planned 
D. To communicate the approach for delivering products 
 

Answer: D
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Which is a reason for releasing a product into a staging area?
 
A. It enables the faster delivery of changes 
B. It supports regulatory compliance checking 
C. It enables a phased Waterfall approach 
D. It supports management by exception 
 

Answer: B
Reference:
https://publications.axelos.com/prince2agile2016/content.aspx?page=pra_170&showNav=t
rue&expandNav=true#:~:text=Typical%20reasons%20for%20inclusion%20of,of%20validati
on
 
%20and%20verification%20process
 
 

 

 

Which statement describes the Kanban approach?
 
A. It is used to make system improvements using visualization and by controlling work in
progress 
B. It is an iterative timeboxed approach that helps teams generate value 
C. It was originally focused in creating new companies and is now used to speed up
product delivery 
D. It has defined processes, products and roles used to iteratively deliver outputs using
timeboxing 
 

Answer: A
Reference:
https://publications.axelos.com/prince2agile2016/content.aspx?showNav=true&expandNav
=true&page=PRA_244
 
 

 

 

What is an epic?
 
A. A low-level requirement 
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B. A fine-grained user story 
C. A detailed feature 
D. A high-level requirement 
 

Answer: D
Reference:
https://publications.axelos.com/prince2agile2016/content.aspx?page=pra_160&showNav=t
rue&expandNav=true
 
 

 

 

Which process can take place during a release review workshop?
 
A. Controlling a stage 
B. Managing product delivery 
C. Managing a stage boundary 
D. Directing a project 
 

Answer: B

 

 

Which statement about the ‘protect the level of quality’ target is CORRECT?
 
A. It is achieved by allowing enough time for testing 
B. It is achieved by using the same team members 
C. It gives confidence on the progress of the project 
D. It delivers the early realization of benefits 
 

Answer: D
Reference:
https://publications.axelos.com/prince2agile2016/content.aspx?showNav=true&expandNav
=true&page=PRA_41#:~:text=PRINCE2%20Agile%20protects%20the%20level,the%20qua
lity
 
%20level%20is%20met
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Which is often used during a retrospective to capture lessons?
 
A. A Glad! Sad! Mad! board 
B. A Kanban board 
C. A burn chart 
D. A Gantt chart 
 

Answer: A
Reference:
https://publications.axelos.com/prince2agile2016/content.aspx?page=pra_120&showNav=t
rue&expandNav=true
 
 

 

 

Which statement explains how the ‘learn from experience’ principle is applied in an agile
context?
 
A. It focuses on the prioritization and decomposition of requirements 
B. It integrates releases within management stages 
C. It is supported by the ‘inspect and adapt’ concept 
D. It provides guidance on mapping PRINCE2 roles to an agile environment 
 

Answer: C
Reference:
https://publications.axelos.com/prince2agile2016/content.aspx?showNav=true&expandNav
=true&page=PRA_46
 
 

 

 

How does agile address the risk associated with the project not being fully understood at
the beginning?
 
A. By allowing a lot of detail at the start 
B. By avoiding too much detail at the start 
C. By requiring details at the start 
D. By preventing the analysis of details at the start 
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Answer: D

 

 

What should be emphasized when tailoring the PRINCE2 Progress theme?
 
A. Monitoring what is being delivered 
B. Tracking time and cost 
C. Planning resources 
D. Assessing the impact of risks 
 

Answer: A

 

 

In Scrum, what answers the question ‘what can be done this sprint?’
 
A. Daily scrum 
B. Sprint review 
C. Sprint planning 
D. Increment 
 

Answer: A

 

 

What needs to happen when new detailed requirements are added to a timebox?
 
A. Requirements of a similar level of effort should be removed 
B. More people should be added to the delivery team 
C. The delivery milestones should be reviewed and re-planned 
D. Formal change control should be applied 
 

Answer: A
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